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Christ is Sufficient 

2 Peter 1:1-4 

  

I.  A Secure Position (v. 1). 

            A.  A Writer – ____________. 

            B.  A Reader - ___________. 

            C.  A Reward – ___________. 

                        1.  Based on what Someone _________. 

                        2.  Based on what Someone did because of Who Someone is. 

  

II.  A ___________ Presence (v. 2). 

            A.  What is multiplied? 

                        1. ______________ 

                        2. ______________ 

            B.  How are these multiplied? 

   

 

III.  A Sufficient Power (v. 3). 

            A.  The All Sufficiency of this Power. 

                        1.  All things for _________. 

                        2.  All things for ________.  

            B.  The Source of this Power.  

            C.  The ________ to this Power. 

  



IV. __________ Promises (v. 4). 

            A.  The Provision of the Promises. 

B.  The Description of the Promise.           

C.  The Result of the Promises. 

                        1.  Positive. 

                        2.  Negative. 

 


